IN230100308V01_GL

| |

EN_Tips:Please do notuse in Severe weather to avoid damage.

FR_Conseils : Ne pas utiliser dans des conditions météorologiques difficiles afin d'éviter tout dommage.
ES_Consejos:Por favor, no utilice en tiempo severo para evitar dafios.

PT_Dicas:Por favor ndo utilizar em tempo severo para evitar danos.

DE_Tipps:Bitte nicht bei schlechtem Wetter verwenden, um Schdden zu vermeiden.

IT_Suggerimenti: si prega di non utilizzare in condizioni climatiche avverse per evitare danni.

{0
N A
&

EN_IMPORTANT, RETAIN FOR FUTURE REFERENCE: READ CAREFULLY.

FR_IMPORTANT:ALIREATTENTIVEMENT ET A CONSERVER POUR CONSULTATION
ULTERIEURE.

ES _IMPORTANTE, LEAY GUARDE PARA FUTURAS REFERENCIAS.

Tools Recommended

PT_IMPORTANTE, RETER PARA REFERENCIA FUTURA: LEIA ATENTAMENTE.

DE_WICHTIG! SORGFALTIG LESEN UND FUR SPATER NACHSCHLAGEN AUFBEWAHREN.

IT _IMPORTANTE! CONSERVARE IL PRESENTE MANUALE PER FUTURO RIFERIMENTO E
LEGGERLO ATTENTAMENTE.




(EN)

Dear customer,

Thank you for purchasing this product. So that your appliance serves you well,
please read all the instructions in this user's manual. If you have any questions,
please contact our customer care center,Our contact details are below:

FR)

(65 4 0)

Cher client,

Nous vous remercions d'avoir acheté ce produit. Afin que vous puissiez profiter
pleinement de votre appareil, veuillez lire toutes les instructions de ce manuel
d'utilisation. Si vous avez la moindre question, veuillez contacter notre centre
d'assistance ala clientéle,Nos coordonnées sont les suivantes:

(aavza)

(DE)
Sehr geehrter Kunde,

Vielen Dank, dass Sie dieses Produkt erworben haben. Damit |hr Gerét Ihnen
gute Dienste leistet, lesen Sie bitte alle Hinweise in diesem Benutzerhandbuch.
Wenn Sie Fragen haben, wenden Sie sich bitte an unser
Kundendienstzentrum,Unsere Kontaktdaten stehen unten:

(mse < o)

(ES)
Queridos clientes,

Gracias por comprar este producto. Para que su electrodoméstico le sirva mejor
lea todas las instrucciones de este manual del usuario. Si tiene alguna pregunta,
comuniquese con nuestro Centro de Atencion al Cliente,Nuestros datos de
contacto son los siguientes:

(0050 0)
N2 N A

(PT)
Caros clientes,

Obrigado por adquirir este produto. Para que o seu aparelho o sirva melhor, leia
todas as instru¢cdes deste manual do utilizador. Se tiver alguma duvida, por favor
contacte o nosso Centro de Atendimento ao Cliente,Os nossos dados de

contacto sdo os seguintes:

/e U ™
Caro Cliente,
Grazie per aver acquistato questo prodotto. Per servirti meglio con questo
apparecchio ti prego di leggere tutte le istruzioni in presente manuale utente. In
caso di dubbio, si prega di contattare il nostro centro assistenza clienti,| nostri
dettagli di contatto sono di seguito:
N 9 /
Country @ Phone M Email
us 001-877-644-9366 customerservice@aosom.com
CA 416-792-6088 customerservice@aosom.ca
UK 0044-800-240-4004 enquiries@mhstar.co.uk
DE 0049-0(40)-88307530 service@aosom.de
FR 0033-1-84166106 aosom@mhfrance.fr
ES 0034-931294512 atencioncliente@aosom.es
PT 0034-931294512 info@aosom.pt
IT 0039-0249471447 clienti@aosom.it




@ Install the Ring
Den Ring anbringen
@ Instalar anillos

m Installez I'anneau

Installare I'anello

Instalar o Anel




Install Brackets

Die Halterplatte anbringen
Instalar el soporte de sujecion
Installez les supports

Installare le staffe

25

)

IFFBREZ

Instalar Parénteses ‘

31
/

74

78

@ Your shade will not be installed correctly unless brackets are perfectly aligned with each other.
A laser level is recommended to align the screw holes to the position as shown in the picture.

Die Halterplatten sollten in einer Linie angebracht werden, sodass die Markisenkassette besser
befestigt werden kann. Wir empfehlen, eine Wasserwaage zu benutzen.

Los soportes de sujecidn no se instalan correctamente a menos que estén perfectamente
alineados entre si. Se recomienda que use un nivel laser para alinear los orificios de los
tornillos como se muestra en las ilustraciones.

]

Votre store ne sera pas installé correctement a moins que les supports
ne soient parfaitement alignés les uns avec les autres.

Il estrecommandé d'utiliser un niveau laser pour aligner les trous de vis
ala positionindiquée sur la figure.

Il paralume non sara' installato correttamente a meno che le staffe non
siano perfettamente allineate una con l'altra.

Si consiglia una livella laser per allineare in posizione i fori delle viti
come mostrato in figura.

El

3

P A sua sombranéo serdinstalada correctamente a menos que os
parénteses estejam perfeitamente alinhados uns com os outros.
Recomenda-se um nivel de laser para alinhar os orificios dos parafusos
com a posicao indicada naimagem.

150mm 17.5mm 17.5mm 150mm

(="

(="
=
(="




00O
00

[03] x2 [04] x4 [05] x4 [06] x4

Drill holes at a depth of 5 cm as shown in the following picture, then insert a plastic
expansion plug @ 8 x 45 mm in each hole.

Markieren Sie die Stellen der Halterplatten entsprechend der Grafik, bohren Sie
danach 5 cm tief, und fligen Sie in jedes Loch einen Kunststoff-Diibel (@ 8 x 45mm)
ein.

R 2

Taladre los orificios con profundidad de 5 cm como se muestra en la siguiente
imagen, luego inserte un tapén de expansién de plastico (@ 8 x 45 mm) en cada
orificio.

Percez des trous a une profondeur de 5 cm comme indiqué dans la
figure suivante, puis insérez un bouchon d'expansion en plastique
@ 8 *45mm dans chaque trou.

3 8

Praticare dei fori a una profondita di 5 cm come mostrato in figura
seguente, quindi inserire un tassello ad espansione in plastica @
8*45 mm in ciascun foro.

3=

Fazer furos a uma profundidade de 5 cm, como mostra a figura
seguinte, depois inserirum tampao de expansao de plastico 08
X 45 mm em cada furo.

o NN
RV (= €_—5cm—

oo [N

Fix the bracket with screws ST4.8 x 50 mm.
Die Halterplatten durch ST 4,8 X 50 mm Schrauben fixieren
Fije el soporte de sujecion con tornillos de ST4,8 x 50 mm

Fixez le supportavec des vis ST4.8 * 50mm

Fissare la staffa con le viti ST4.8*50mm

U

3538 R2

Fixar o suporte com parafusos ST4.8 X 50 mm.




U

IFFER 2

i

[07] x2 [08] x2 [04] x2

Fix the hook with screws ST4.8 x 55 mm

Die Plastikhaken durch ST 4.8 X 55 mm Schrauben fixieren
Fije los ganchos de plastico con tornillos de ST4.8 x 55 mm
Fixez le crochet avec des vis ST.8 * 55mm
Fissare il gancio con le viti ST.8*55mm

Fixar o gancho com parafusos ST4.8 X 55 mm

E——

DS

BT

los




@ Attention: This product is not intended for use during strong winds, only for use during
windless or breezy days when the wind speed does not exceed 20 km/h.

Achtung: Das Produkt darf nicht bei starkem Wind benutzt werden. Benutzen Sie es nur,
wenn es keinen Wind oder nur leichten Wind gibt, die max. Windgeschwindigkeit: 20
km/h.

Advertencia: No permita que use el producto en condiciones de viento fuerte, sélo es
@ adecuado para el uso en dias sin viento o con brisa y la velocidad del viento no debe
exceder los 20 km/h.

Attention : Ce produit n'est pas destiné a étre utilisé en cas

de vents forts, mais uniquement pendant les jours sans
vent ou de brise, lorsque la vitesse du vent ne dépasse pas
20KM /h.

Attenzione: questo prodotto non é destinato all'uso in caso
di raffiche di vento, e' progettato solo per |I'uso durante
giornate senza vento o ventilate quando la velocita del
vento non supera i 20 km/h.

Atencgéo: Este produto ndo se destina a ser utilizado
durante ventos fortes, apenas para utilizagao durante dias
sem vento ou com brisa quando a velocidade do vento nédo
ultrapassa os 20 km/h.




Imported by Aosom LLC

27150 SW Kinsman Rd Wilsonville, OR 97070 USA
MADE IN CHINA

Imported by Aosom Canada Inc.

7270 Woodbine Avenue, Unit 307, Markham, Ontario Canada
L3R 4B9

MADE IN CHINA

Importé par Aosom Canada Inc.

7270 Woodbine Avenue, unité 307, Markham, Ontario Canada
L3R 4B9

Fabriqué en Chine

IMPORTER ADDRESS:
MH STAR UK LTD

Unit 27, Perivale Park,
Horsenden lane South
Perivale, UB6 7RH
MADE IN CHINA

ADRESSE D&APOS;IMPORTATION:

MH FRANCE =

2 Rue Maurice Hartmann @ DONS‘EZ []% ou ’O\Q ou 4@
92130 Issy Les Moulineaux S

France

FABRIQU E EN CHINE Adresses sur quefairedemesdechets.fr

0
{IQYG NV associATION LIVRAISON  DECHETERIE

IMPORTADOR:

SPANISHAOSOM, S.L. .
C/ROC GROS,N°15.08550, ELS HOSTALETS DE BALENYA, SPAIN.
B66295775

WWW.AOSOM.ES

ATENCIONCLIENTE@AOSOM.ES

TEL: 931294512

HECHO EN CHINA

SPANISHAOSOM, S.L

C.ROC GROS N.15,08550. ELS HOSTALETS DE BALENYA
TEL: 931294512 (SEG-SEX DAS 7:30H AS 16:30H)
INFO@AOSOM.PT

WWW.AOSOM.PT

ADRESSE DES IMPORTEURE:
MH Handel GmbH
Wendenstralle 309

D-20537 Hamburg

Germany

IN CHINAHERGESTELLT
IMPORTATO DA:

AOSOM ltaly srl

Centro Direzionale Milanofiori
Strada 1 Palazzo F1

20057 Assago (MlI)

P.1.: 08567220960

FATTO IN CINA




	页 1
	页 2
	页 3
	页 4
	页 5
	页 6
	页 7
	页 8

